il
W
St
%
I

1. TE4
THE4 w2 0 85 AN FER (ERHX) B TH
THH4 88 [0 U A 2 P 7 L T~ 4 o] SR ) 1|77 KB I
2. THEHNE
1) HEI4 HEEREEE G LER
2) £ I & ERKG R T
3) T i 206 H [ H AFn T4 58 TH
= AFn THE11H28H
4) TEyE

ELAma  JuN TR )R




AN

%
T

TH4 | a2 0875 AUMHAFER (RH#X) SR THE

TSy « TfE - FER B {7 ¥ & & # A bl A iR
JERRH R X 1 46,930, 919
HEELT = 1 3, 485, 470
HRHEI T = 1 641,539 |#EH! 540 m3
LY A7 iy b FRLE PEEME 5, 000m3AH ;
b 430 m3
0 Cabl- EHIRY £5Te) ;
b 20 m3
0 Cabl- EHIRY £5Te) ;
H 1 450 m3
B (O-27)
AR T =X 1 13,088 | BE{AK (FLtR) B& 1 1 m3
2. 5mAT ;
PR (BEE8) S 1 30 m3
4. 0mPL E
Rkt A = 1 123,536 | LM (8] 1-50) 140 m2
BGHNOE WE L R OWE L ML
5 Bk 3R T 2 1 2,707,307 |BHELY-} 1,135 m2
t=2. 0mmPL F ;
CEUEVZAR 161 m2
t=10cm 18-8-25 (20)W/CHIEHE L ;
MR B T = 1 79, 143
PR IR 2 T LBR T = 1 79, 143 | L EALFR 37 m2
ImPA T EAEAF100m2d 7= Y £ F & 6t/100m2
EEEET = 1 3, 693, 692
[GEZL i E=aR = 1 3,296,923 | fi 5 &ids 6,413 m2
M EYE10cm 3. Om=VW ;
TAT 7 = 1 396, 769 | TR (i - BE ) 70 n2
FEITyYr77 RC-40 AV E 100mm ;
INEE A CSERE D) 21 m2

-1- E ta2@d Ui




il
W
>
%
I

TH4 | a2 0875 AUMHAFER (RH#X) SR THE

TSy « TfE - FER B {7 ¥ & & A bl A iR

FEIT9Yr77 RC-40 A VW E 350mm ;

R (HEGE - BRI ) 25 m2
AR A RM-25 4+ F Y JE 350mm ;

)@ (§E - BEE) 63 m2
FAHRIEET 22 (20) &H%EE 50mm 3. Omid ;

g (I - BIF ) 33 m2
FABRIEET A2/ (20) AHMEE 50mm 3. OmiR ;

g (I - BIF ) 64 m2
FAEBRIEET A2/ (20) AHMEE 50mm 3. Omid ;

-7 my)FE (3R T = 1 711, 457
e+ T 2 1 53,464 |RYEY 1 X

+4)

HEL 1 2V
+4)

T wb AT 1 X
0 CaBl- EHIRY £5Te) ;

M 1 =X
L O0-2)

VIR VARV RN EVZA I VAR PYZ ) = 1 657,993 | Bl T HAfEav))-} 5 m

18-8-40 (B 47) JEEHE 55cm B S 35¢m ;

BFT/ A akay ) -} 2 m3
18-8-25 (B ) ;

/) =h (R%0) 7" ny ) il 15 m2
P2 % 350 ;

JA - BEARE () 4 m3
FARAG RC-40 ;

Bl HT Ruiav - 0.4 m3
18-8-25 (B ) ;

A 5 %N
P

HEKHEEY T = 1 14, 825, 713

-2 - E ta2@d Ui




il
W
>
%
I

TH4 | a2 0875 AUMHAFER (RH#X) SR THE

THX4y - LfE - B {7 % & # il pall R
e+ T 2 2,575,106 |FEHR Y (FmHE) 1 X
+4)
i 1 X
+4)
i 1 X
+4)
HEL 1 2V
+wb
HEL 1 2V
+4)
b E R 1 X
+wp CEHR - ERIRY LET) ;
b E R 1 X
+wp CEHR - ERIRY LET) ;
b 1 =X
+wp CEHR - ERIRY LET) ;
e 1 =
HHL -1
T =X 324,920 |7 VEAAANUBLRIE 15 m
300300 :
7" VA NUBRITE: 10 m
600X 700 ;
mET £ 967,863 |Bkfhav)-MEAHE 24 m
GRS
45084 ;
rehav ) - EAHE 3 m
GRS
5007 ;
Fexay))-h 0.2 m3
18-8-25 (B ) ;
g Davyy)—p 1 m3
18-8-40 (&)
Kk vt T = 538,100 | BUGFT B IR 1 (£

B FTA4 18-8-25 (Fi4F) 800X 800X 900 ;

TAZIEE LN )R




FH

LAy

=CN
=

T
Psi

TH4 | a2 0875 AUMHAFER (RH#X) SR THE

TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
BGHT K 4 (£
BUGFT#F 18-8-25 (fi4F) 500X 500X 500 ;
BGHT K 1 (£
B HTHA 18-8-25 (F74F) 600X 600X 1000 ;
BGHT K 1 (£
B HTHAF 18-8-25 (Fi4F) 800X 800X 900 ;
= 1 e
JTV=Fv)T 800 X 800t T-25 K VIMEE ;
KRR H 5 5 7K Y 1 e
B400 X h300 AHEHEL" Hl ;
WATFTKEE T = 404, 297 | BIGFTKES 6 m
W1100 X H1600 24-12-40 (E%F) ;
7 VR AMKEE T 2 1 3,123,939 |7 VEpANTRAK 16 m
W1100 X H1600 ;
7118 IR T 2 1 6,891, 488 |7 nysvyh 793 m2
1:1.500 F 1:1. 84T ;
VARTYASTS 25 m2
1:2. 004k 1:3. 04T ;
Bh AT L 2 1 15, 304, 138
B LA T 2 1 15,304, 138 | JEffE7 ny), SAE FLAE 507 &
45 HERE ¢ 101. 6X3.2X600 ;
FERET ny ), SRS LR 16 &
HfET 1 v 7 500X 500X 700 ;
FERET ny ), SRS LR 8 &
Hfs7a w7 ¢ 16 300X200X200 ;
A0 - AL (ST ARG 1R 994 m
2mPL T 2m ;
FABE 8 A
WiEE & H1500 X W4000 ;
s ALER T = 1 1, 989, 000
I AALVERESE T 2 1 1,989,000 |iAafEsE 1 X
-4 - E A2 s SN 7




il
W
>
%
I

TH4 | a2 0875 AUMHAFER (RH#X) SR THE

TEHEX Sy - THE - R B {7 % & A bl iR
HEE L = 1, 980, 830
HEETE LT X 613,220 | av)-MHEXEYTUE L 6 m3
A EY) BhkE T
/) ) -MEEEBUE L 20 m3
ERApIEEY) FAE T ;
ERZE R LD 1 2V
TAT7 W MEEERR 15emPL T
EhAE AR AR 830 m2
TA77VMERZE IR Bf2ERRIE 5 cm ;
EhAE AR AR 30 m2
TAT7VMEEERR A2ERRJE 10c m ;
KM EY L T = 956,921 |7 nysvy Mt 36 m2
v = A7 i E 139 m
b
TR AL T = 410, 680 | FRE 6 m3
av ) -bik (BER5)
o 1 20 m3
/) -hik Bk
o 1 44 m3
TAT 7V
By 6 m3
av ) -bik (BERR)
By 20 m3
/) -hik Bk
By 44 m3
TAT 7V
% T = 4,861,476
THAERK L X 2,364,633 | T HEKMHE 1, 100 m3
KITEIR 710 m3
B - ARG T 2 582,823 |+ m 5 1 =
RRIE
+D 5 1 =
-5 - E A2 s SN 7




B
T
iy
i
I

THE4 | Fi20 8% AWMELFER (EMHX) KR/t TH

TEHX4y « Tfd - FER & #A i iR
i ;
KRBT = 139,540 |& v7° HEAk 1 2
0LA 40 (m3/h) Kl FIRFEAK
VE#IE 1k T Y 1,070, 320 | & /K LB R f 1 =
A AL 10m3 /hiffk ;
A ERE E T = 704, 160 | ZQiEAFEE S s 5 1 =
[ERAE Xy = 46, 930, 919
HiE 2 = 5, 670, 100
BISTIGE: = 602, 100
HeffrE sy = 66, 100 |JEKHERRFAT -IERRE 1 =
AN e AvE HERERE 1 F2V
BGRESGESE (5 L) = 536, 000
B (FEHL) = 5, 068, 000
T = 52,601, 019
Bl gy = 16, 982, 000
T =5l = 69, 583, 019
— R A = 12, 466, 981
T =AM = 82, 050, 000
-6 - E+A8m SN T S




